
B

A

D

C

3

11
8
1

15

17

6

16

71218

POZ Č. DÍLU KS

1 MONREHM0100963AA_OPERADLO T5_MAXI 1

2 MONREHM0100964AA_SEDATKO PEVNE 1

3 MONREHM0100980AA_HRAZDICKA T5 MAXI 1

4 MONREHM0100966AA_ STUPACKA T5 MAXI 1

5 LAKKKK15100330AA_VZPERA ZAD 1

6 NKT28300166AA_PACKA 1

7 NKT28300310AA_PODLOZKA PRITLACNA 1

8 NKT28300071AA_PODLOZKA PL_DIST_003_6,3x15x10 4

9 NKT30900349AA_SROUB M5x25 DIN965 2

10 MONREHM0100970AA_Sedatko vysuvne TOMC MAXI 1

11 NKT30900321AA_SROUB M5x40 din 963 2

12 NKT28300378AA_PODLOZKA BEZBARVA PD 1
13 NKT30900051_Podložka pl8,4 DIN 125 1

14 NKT30900389AA_SROUB M8x30 DIN603 vratovy 1

15 Washer DIN 125 - A 5.3 4

16 Washer DIN 125 - A 6.4 1
17 NKT30900058AA_MATICE M5 samojistna DIN985 4

18 ISO 8678-M8x30-24.5-N 1

C

2 31 4

B

A

D

E

F

WEIGHT: SHEET 1 OF 1SCALE:1:5

ISO A4

SCALE

1:5

DATE

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

SIGNATURE

CAD
4.11.2009

Norm

DATE NAME

DRAWN

TITLE:

DWG NO.

NAME

Sklenarova SEAT / SEDACKA
T5S MAXI

SVR00040AA



1
7
16

6

8

139

34 19 1018 5

17

15
12

14

11

2

poz Č. DÍLU ks

1 LAKREHSV100972AA_RAM SEDATKA KOMPL 1
2 LAKKKK14000152AA_Vypln sedatka pevna 1

3 LAKKKK15500155AA_PRICKA SEDACKY TOM C 2

4 NKT30900396AA_SROUB M6x20 ISO7380 
pulkul.hl.,vnitr.sestihran 4

5 NKT30900138AA_NYT JEDNOSTRANNY 4x10 AL 4
6 LAKKKK14000149LA_BOCNICE SEDACKY L 1

7 LAKKKK14000149PA_BOCNICE SEDACKY P 1

8 LAKKKK14000145LA_TAHLO TOMC L 1

9 NKT71100013AA_STUHA HACKOVA s38X270 2

10 NKT28300043AA_MATICE PLAST_VROUB_073_M5 4

11 NKT28300067AA_PODLOZKA PL_DIST_003_037_6x16x1,5 2

12 NKT28300071AA_PODLOZKA PL_DIST_003_6,3x15x10 2
13 NKT30900094AA_SROUB VRATOVY M5x40 DIN603 4
14 NKT30900349AA_SROUB M5x25 DIN965 zap.hl.,kriz.drazka 2

15 NKT30900053AA_PODLOZKA 5,3 DIN125 2

16 LAKKKK14000145PA_TAHLO TOMC P 1

17 NKT30900058AA_MATICE M5 DIN985 2

18 DIN 6798-A5.3 4

19 NKT30900386AA_SROUB M6x12 DIN912 2

C

2 31 4

B

A

D

E

F

WEIGHT: SHEET 1 OF 1SCALE:1:5

DETAIL A

ISO A4

SCALE

1:5

DATE

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

SIGNATURE

CAD
4.11.2009

Norm

DATE NAME

DRAWN

TITLE:

DWG NO.

NAME

Sklenarova

SVR00041AA

SEAT / SEDACKA-Det.A
T5S MAXI 



12 7

1110

8
1

12

14

13

9

15 16

20

320 54

19

6

16

1618

POZ Č. DÍLU KS

1 LAKREHSV100977AA_OPERADLO 1
2 SURKOK1400158AA_Vypln operadla pevna_MAXI 1
3 LAKREHSV100971AA_RAM NASTAVCE OPERADLA 1
4 LAKKKK14000150AA_VYPLN OPERADLA VYSUVNA 1

5 NKZ90000324AA_UCHYT STRECHY 2

6 NKT28300060AA-ZATKA_KRUH_085-19_ROVNA_HLAVA 2
7 SURPPP27400009AA_PODLOZKA PLECHU ZAD 2

8 NKT28300085AA_SPONA_VYKLAPECI 4

9 NKT28300308AA_ZATKA 60x23 1

10 NKT28300307AA_KLUZAK pr 16,5 2

11 SURKOK15500158AA_TRUBKA ULOZENI 2

12 NKT28300043AA_MATICE PLAST_VROUB_073_M5 2
13 NKT30900378AA 2

14 NKT28300115AA_PODLOZKA PLAST_dist 003-
034_6,3_15x2,5 2

15 NKT71100013AA_STUHA HACKOVA s38-180 2

16 NKT30900254AA_Nýty duté  č.66 ponikl. 
dvoudíl.č.200500 16

17 NKT30900305AA_Nýt dvoudíl_70Zč.2000700 4
18 NKT71100013AA_STUHA HACKOVA s38X270 1
19 NKT30900109AA_Šroub 4,8x13 DIN7981 samořezný 4
20 NKT30900138AA_Nýt jednostranný 4x10 6
21 DIN 912 M8 x 16 --- 16N 2

C

2 31 4

B

A

D

E

F

WEIGHT: SHEET 1 OF 1SCALE:1:5

DETAIL B

ISO A4

SCALE

1:5

DATE

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

SIGNATURE

CAD
4.11.2009

Norm

DATE NAME

DRAWN

TITLE:

DWG NO.

NAME

Sklenarova

SVR00042AA

SEAT / SEDACKA-Det.B
T5S MAXI



1

2

12

3
15

8

7

4

9

5

16

7

11

10

13

14

C

2 31 4

B

A

D

E

F

WEIGHT: SHEET 2 OF 2SCALE:1:5

DETAIL C

ISO A4

SCALE

1:5

DATE

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

SIGNATURE

CAD
4.11.2009

Norm

DATE NAME

DRAWN

TITLE:

DWG NO.

NAME

Sklenarova SEAT / SEDACKA-Det.C
T5S MAXI

SVR00043AA



511

6

4

10

8

9

15
17

12

13
14
3

2

16

1

C

2 31 4

B

A

D

E

F

WEIGHT: 

A4

SHEET 2 OF 2SCALE:1:5

DETAIL D

ISO A4

SCALE

1:5

DATE

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

SIGNATURE

CAD
4.11.2009

Norm

DATE NAME

DRAWN

TITLE:

DWG NO.

NAME

Sklenarova

SVR00044AA

SEAT / SEDACKA-Det.D
T5S MAXI
 


